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F222-1
Q3 /N\—FF— %
Q3_Kig 0 1
0 62 1 16
1 76 0 0
X218 5E -
FisherE IEHEZIRTE 0.45324
$22-2
Q3_k A %
Q3_Kig 0 1
0 63 0 0
1 76 0 0
X21R5E 0.27018
FisherE & FERRTE -
#22-3
Q3_F %
Q3_Kig 0 1
0 61 2 3.2
1 33 43 56.6
X21R%E 7.19E-11
Fisher B IR E 1.22E-12
#22-4
Q3 K& %
Q3_Kig 0 1
0 61 2 3.2
1 75 1 1.3
X218 5E -
FisherE fEHEZIR TE 0.59006
#22-5
Q3_tHRF %
Q3_Kig 0 1
0 63 0 0
1 73 3 39
X218 5E -
Fisher B fEHEZIR E 0.25117
#2226
Q3_.E %
Q3_Kig 0 1
0 63 0 0
1 76 0 0
X21R%E 0.27018

Fisher B IR E




F22-17

Q3_FDth %
Q3_Kig 0 1
0 62 1 1.6
1 76 0 0
X218 5E -
Fisher B fEHEZIR TE 0.45324
23
Q4 % Hb
Q3_k & 1 $H5 [2 B
0 34 28 54.8
1 41 35 53.9
X21R5E -
Fisher B IR E 0.72358
ZF D h=151%p& L=
24
Q5 [% [ELy
Q3_k & EIR) NSV Y AR ZEZ =AW
0 24 37 1 1 38.1
1 26 28 1 1 46.4
X218 5E -
FisherE fEHEZIR TE 0.93037
25
Q6 % 1 LAIN
Q3_Kig 1ELURA [1-35F 3FELLERT HHBAL|NA
0 7 6 11 0 39 11.1
1 3 6 14 3 50 3.9
X218 5E -
Fisher B fEHEZIR TE 0.2134
26
Q7 [% BS5
Q3_k % 2S5 PPES [HFEYEDLLL [BHEL [bhsily
0 29 13 9 5 7 46
1 38 16 9 8 5 50
X21R%E 0.85441
Fisher B IR E 0.85974
F=27-1
Q8_1 [% 1 Z1>TL -
Q3_k % 1 -T2 snsih o=
0 63 0 100
1 76 0 100
X21R5E 0.27018
FisherE & FERRTE -
F=27-2
Q8.2 [% 1 Z1>TL -
Q3_k & 1 -T2 snofih ot
0 63 0 100
1 76 0 100
X21R%E 0.27018

FisherEfEFERRTE -




#27-3

Q8.3 [% 1 Z1>TL -
Q3_Kig 1 F->TU2 ®N5%hof=
0 63 0 100
1 75 1 98.7
X218 5E -
Fisher B &R E 1
#=27-4
Q8.4 [% 1 Z1>TL -
Q3_Kig 1 F1->TU2 ®N5%hoTf=
0 63 0 100
1 73 3 96.1
X218 5E -
Fisher B fEHEZIR E 0.25117
%27-5
Q8.5 [% 1 En-TLV=
Q3_Kig 1 F1->TU2 ®N5Hhof=
0 49 14 77.8
1 60 16 78.9
X21R%E 1
Fisher B &R E 1
%27-6
Q8.6 [% 1 Z1>TL -
Q3_Kig 1 F1->TU2 ®N5%hof=
0 59 4 93.7
1 70 6 92.1
X218 5E -
Fisher B &R E 1
F=27-1
Q8.7 [% 1 Zn-TLV=
Q3_Kig 1 F1->TU2 ®N5%hof=
0 63 0 100
1 76 0 100
X21R%E 0.27018
FisherE & FERRTE -
%278
Q8.8 [% 1 Z1>TL -
Q3_Kig 1 F1->TU2 ®N5HHof=
0 63 0 100
1 76 0 100
X21R5E 0.27018
FisherE & FERRTE -
#27-9
Q8.9 [% 1 Z1>TL -
Q3_Kig 1 F1->TU2 ®N5%hof=
0 63 0 100
1 75 1 98.7
X21R5E -

Fisher B &R E

1




#27-10

Q8.10 [% 1 Z1>TL -
Q3_Kig 1 F1->TU2 ®N5%Hhof=
0 62 1 98.4
1 75 1 98.7
X248 E -
Fisher B &R E 1
#27-11
Q8_11 [% 1 Z1>TL -
Q3_Kig 1 F1->TU2 ®N5%hof=
0 63 0 100
1 73 3 96.1
X248 -
FisherE IEHEZIRTE 0.25117
#=27-12
Q8.12 [% 1 Z1>TL -
Q3_Kig 1 F1->TU2 ®N5%hof=
0 47 16 74.6
1 61 15 80.3
X21R%E 0.55295
Fisher B IR E 0.53972
#=27-13
Q8.13 [% 1 Z1>TL -
Q3_Kig 1 F1->TU2 ®N5Hhof=
0 62 1 98.4
1 75 1 98.7
X248 -
Fisher B &R E 1
F=27-14
Q8.14 [% 1 Z1>TL V-
Q3_Kig 1 F1->TU2 ®N5Hhof=
0 51 12 81
1 63 13 82.9
X248 0.94021
FisherE IEHEZIRTE 0.82636
#=27-15
Q8_15 [% 1 Zn-TLV=
Q3_Kig 1 F1->TU2 ®N5%hof=
0 58 5 92.1
1 67 9 88.2
X248 0.63224
Fisher B &R E 0.57486
#27-16
Q8.16 [% 1 Z1>TL -
Q3_Kig 1 F1->TU2 ®N5%hof=
0 60 3 95.2
1 67 9 88.2
X248 0.2395
Fisher B fEHEZIR E 0.22451




#=27-17

Q8.17 [% 1 Zn-TLV=
Q3_Kig 1 F1->TU2 ®N5%Hhof=
0 63 0 100
1 74 2 97.4
X248 E -
Fisher B &R E 0.50078
#=27-18
Q8.18 [% 1 Z1>TL -
Q3_Kig 1 F1->TU2 ®N5%hof=
0 63 0 100
1 74 2 97.4
X248 -
Fisher B &R E 0.50078
F228-1
| Q3_k A %
Q3. /\—kF— 0 1
0 138 0 0
1 1 0 0
X21R5E 2.22E-16
FisherE & FERRTE -
#<28-2
| Q3 F %
Q3 /\—FF— 0 1
0 93 45 32.6
1 1 0 0
X248 -
Fisher B 1R E 1
#<28-3
| Q3_RE} %
Q3 /\—FF— 0 1
0 135 3 2.2
1 1 0 0
X248 -
Fisher B &R E 1
#28-4
| Q3 FARE %
Q3. /\—kF— 0 1
0 135 3 2.2
1 1 0 0
X248 -
Fisher B IR E 1
#<28-5
| Q3_. %
Q3 /\—FF— 0 1
0 138 0 0
1 1 0 0
X21R5E 2.22E-16

Fisher B &I E




#2286

| Q3 ZF Nt %
Q3 /\—FF— 0 1
0 137 1 0.7
1 1 0 0
X218 5E -
Fisher B IR E 1
29
[ Q4 % Hb
Q3 /S\—FF— 1 $H5 [2 B
0 75 62 54.7
1 0 1 0
X218 5E -
Fisher B fEHEZIR E 0.46043
ZDfth=11ZFRL =
30
[ Q5 [% [FL
Q3 /S\—FF— [FL NSV YR ZEZ =AW
0 49 85 2 2 35.5
1 1 0 0 0 100
X218 5E -
FisherE fEHEZIRTE 0.38849
31
| Q6 % 1E LN
Q3 /S\—FF— 1A [1-38 3ELL LR HMSEL|NA
0 10 11 25 3 89 7.2
1 0 1 0 0 0 0
X21R5E -
Fisher B &R E 0.5
32
[ Q7 % B>
Q3_/ \o_i“j__ IEI:E.\5 bblEl:E.\a &iUlEl:E.\bfd:L\ lEl:E.\bfd:L\ bb\'::)fd:['\
0 67 29 18 12 12 48.6
1 0 0 0 1 0 0
X218 5E -
Fisher B {EFEZMRTE  0.17986
233-1
[ Q8_1 [% 1 Z1>TL -
Q3 /N\—kF— 1 ®->TU2 #siEhof-
0 138 0 100
1 1 0 100
X21R5E 2.22E-16
FisherE & FERRTE -
#33-2
[ Q8.2 [% 1 Z1>TL -
Q3 /N\—FF— 1 ®->TU2 #siEhor-
0 138 0 100
1 1 0 100
X21R%E 2.22E-16

FisherEfEFERRTE -




#33-3

[ Q8.3 [% 1 Z1>TL -
Q3 /N\—kF— 1 E->TU2 #stiEhor-
0 137 1 99.3
1 1 0 100
X248 E -
Fisher B fEHEZIR TE 1
#33-4
| Q8 4 [% 1 ZloCLV=
Q3 /N\—kF— 1 ®->TU2 #siEh ot
0 135 3 97.8
1 1 0 100
X248 -
FisherE fEHEZIRTE 1
%335
| Q8.5 [% 1 Zn-TLV=
Q3 /N\—kF— 1 ®->TU2 #siEhor-
0 108 30 78.3
1 1 0 100
X248 -
Fisher B IEHEZIR E 1
#2336
[ Q8 6 [% 1 Z1>TL V-
Q3 /N\—kF— 1 ®->TU2 #siEhor-
0 128 10 92.8
1 1 0 100
X248 -
FisherE fEHEZIR E 1
%337
| Q8.7 [% 1 Zn-TLV=
Q3 /N\—FF— 1 ®->TU2 #siEhor-
0 138 0 100
1 1 0 100
X 2155 2.22E-16
FisherE & FERRTE -
#<33-8
[ Q8 8 [% 1 Z1>TL -
Q3 /N\—FF— 1 ®->TU2 #siEhof-
0 138 0 100
1 1 0 100
X21&5E 2.22E-16
FisherE R FERRTE -
#:33-9
[ Q89 [% 1 Z1>TL -
Q3 /N\—FF— 1 ®->TU2 #siEhof-
0 137 1 99.3
1 1 0 100
X248 -

Fisher B &R E

1




233-10

[ Q8.10 [% 1 Z1>TL -
Q3 /N\—kF— 1 ®->TU2 sk or-
0 136 2 98.6
1 1 0 100
X248 -
Fisher B fEHEZIR TE 1
#33-11
[ Q8_11 [% 1 Z1>TL -
Q3 /N\—kF— 1 E->TU2 #siEhor-
0 135 3 97.8
1 1 0 100
X248 -
Fisher B fEHEZIR TE 1
#33-12
[ Q8.12 [% 1 Z1>TL -
Q3 /N\—kF— 1 E->TU2 #siEhor-
0 107 31 775
1 1 0 100
X248 E -
Fisher B fEHEZIR TE 1
#33-13
[ Q8.13 [% 1 Z1>TL -
Q3 /N\—FF— 1 ®->TU2 #siEhor-
0 136 2 98.6
1 1 0 100
X248 -
Fisher B fEHEZIR TE 1
#33-14
[ Q8.14 [% 1 Z1>TL -
Q3 /N\—FF— 1 ®->TU2 #siEhof-
0 113 25 81.9
1 1 0 100
X248 -
FisherE fEHEZIRTE 1
#33-15
| Q8_15 [% 1 Zn-TLV=
Q3 /N\—FF— 1 ®->TU2 #siEhof-
0 124 14 89.9
1 1 0 100
X248 E -
FisherE fEHEZIR E 1
#33-16
[ Q8_16 [% 1 Z1>TL -
Q3 /N\—FF— 1 ®->TU2 #siEhor-
0 126 12 91.3
1 1 0 100
X248 -

Fisher B &R E

1




#:33-17

| Q8.17 [% 1 Zn-TLV=
Q3 /N\—FF— 1 ®->TU2 #siEhof-
0 136 2 98.6
1 1 0 100
X218 5E -
Fisher B &R E 1
F34-1
| Q8.18 [% 1 1> TLV=
Q3 /N\—kF— 1 ®->TU2 sk or-
0 136 2 98.6
1 1 0 100
X21R5E -
Fisher B &I E 1
#34-2
Q3_F %
Q3_ R A 0 1
0 94 45 32.4
1 0 0[-
X21R5E 0.000032369
FisherE R FERRTE -
#<34-3
Q3 K& %
Q3_ R A 0 1
0 136 3 2.2
1 0 0[-
X 2155 2.22E-16
FisherE & FERRTE -
#£34-4
Q3_tHRF %
Q3_ R A 0 1
0 136 3 2.2
1 0 0[-
X 2155 2.22E-16
FisherE & FERRTE -
#34-5
Q3_.E %
Q3_R A 0 1
0 139 0 0
1 0 0[-
X218 5E -
FisherEfEFERRTE -
#2346
Q3_FDth %
Q3_R A 0 1
0 138 1 0.7
1 0 0[-
X 2155 2.22E-16

Fisher B &I E



35

Q4 % Hb
Q3_ kA 1 $H5 [2 B
75 63 54.3
0 0[-
X2R2E 1.64E-15
Fisher B iR FEERIRTE |-
ZF D h=151%p& L=
736
Q5 [% 1ELy
Q3_ kKA YA LMVE HMoELY Ez1=<{EW
50 85 2 2 36
0 0 0 0-
X21R%E 2.22E-16
Fisher B IR E -
37
Q6 % 1 LN
Q3_ kKA 1A [1-3%F 3FELLERT HHBAL|NA
10 12 25 3 89 7.2
0 0 0 0 0[-
X2¥R%E 0.0001514
FisherE & FERRTE -
738
Q7 [% BS5
Q3_ KA 2S5 PPES [HFYEDLLEL [BEHEL [bhsiy
67 29 18 13 12 48.2
0 0 0 0 0[-
X212 E 1.46E-15
FisherEfEFERRTE -
239-1
Q8_1 [% 1 Z1>TL -
Q3_ kKA 1 F1->TU2 ®N5%Hof=
139 0 100
0 0-
X248 -
FisherE & FERRTE -
#2392
Q8.2 [% 1 Z1>TL -
Q3_ kKA 1 F1->TU2 ®N5%hof=
139 0 100
0 0[-
X248 -
FisherE & FERRTE -
#<39-3
Q8.3 [% 1 Z1>TL -
Q3_ kKA 1 F1->TU2 ®N5%hof=
138 1 99.3
0 0[-
X21R%E 2.22E-16

FisherE & FERRTE -



#2394

Q8.4 [% 1 1> TLV=
Q3_k A 1 -T2 snsih o=
0 136 3 97.8
1 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
#:39-5
Q8.5 [% 1 En-TLV=
Q3_k A 1 -T2 snsih o=
0 109 30 78.4
1 0 0-
X21R%E 2.07E-11
FisherE R FERRTE -
#2396
Q8.6 [% 1 1> TLV=
Q3 kA 1 -T2 snoih o=
0 129 10 92.8
1 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
397
Q8.7 [% 1 Zn-TLV=
Q3_ kA 1 -T2 snofih o=
0 139 0 100
1 0 0[-
X218 5E -
FisherE & FERRTE -
#<39-8
Q8.8 [% 1 1> TLV=
Q3_ kA 1 -T2 snsfihort=
0 139 0 100
1 0 0[-
X218 5E -
FisherE & FERRTE -
#239-9
Q8.9 [% 1 1> TLV=
Q3 kA 1 -T2 snsih o=
0 138 1 99.3
1 0 0-
X21R%E 2.22E-16
FisherE R FERRTE -
239-10
Q8.10 [% 1 1> TLV-
Q3_ kA 1 -T2 snofih ot
0 137 2 98.6
1 0 0-
X21R%E 2.22E-16

FisherE & FERRTE -



#239-11

Q8_11 [% 1 1> TLV=
Q3_ kA 1 -T2 snsih o=
0 136 3 97.8
1 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
#239-12
Q8.12 [% 1 1> TLV=
Q3_k A 1 -T2 snsih ot
0 108 31 77.7
1 0 0[-
X21R%E 6.53E—11
FisherE & FERRTE -
239-13
Q8.13 [% 1 1> TLV=
Q3_k A 1 -T2 snsih o=
0 137 2 98.6
1 0 0[-
X21R%E 2.22E-16
FisherE & FERRTE -
#239-14
Q8.14 [% 1 1> TLV-
Q3_ kA 1 -T2 snsih o=
0 114 25 82
1 0 0[-
X21R%E 4.39E-14
FisherE R FERRTE -
#39-15
Q8_15 [% 1 Zn-TLV=
Q3_ kA 1 H-TU2 snsihort-
0 125 14 89.9
1 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
#239-16
Q8_16 [% 1 1> TLV=
Q3_ kA 1 -T2 snofihort=
0 127 12 91.4
1 0 0[-
X21R%E 2.22E-16
FisherE & FERRTE -
#39-17
Q8.17 [% 1 Zn-TLV=
Q3_ kA 1 -T2 snsih ot
0 137 2 98.6
1 0 0-
X21R5E 2.22E-16

FisherE & FERRTE -




#239-18

Q8.18 [% 1 Z1>TL -
Q3_ kKA 1 F1->TU2 ®N5%Hhof=
0 137 2 98.6
1 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
F240-1
Q3 K& %
Q3 F 0 1
0 92 2 2.1
1 44 1 2.2
X248 %E -
Fisher B IR E 1
#2402
Q3_tHRF %
Q3 F 0 1
0 93 1 1.1
1 43 2 4.4
X248 %E -
Fisher B fEHEZIR TE 0.24487
#40-3
Q3_.E %
Q3 F 0 1
0 94 0 0
1 45 0 0
X248 0.000032369
FisherE R FERRTE -
£40-4
Q3_FDth %
Q3 F 0 1
0 93 1 1.1
1 45 0 0
X248 -
Fisher B IR E 1
41
Q4 % HB
Q3 F 1 $H3% [2 B
0 53 40 57
1 22 23 48.9
X248 -
FisherE fEHEZIRE 0.639
ZF D h=151%px L=
=42
Q5 [% [ELy
Q3_F YA LMV HMoELY Bz =<0
0 35 56 1 2 37.2
1 15 29 1 0 33.3
X248 -
Fisher B IR E 0.76331




43

Q6 % 1 LUN
Q3_F 1A [1-3%F 3FELLERT HHBAL|NA
8 11 14 2 59 8.5
2 1 11 1 30 44
X248 -
FisherEfEFEZMRTE  0.12005
=44
Q7 [% BS5
Q3_F 2S5 PPES [HFEYEDLLEL [BEHEL [bhsiny
44 21 14 7 8 46.8
23 8 4 6 4 51.1
X248 -
FisherE{EFEZEMRTE  0.67694
F245-1
Q8_1 [% 1 Z1>TL -
Q3_F 1 F1->TU2 ®N5Hhof=
94 0 100
45 0 100
X248 E 0.000032369
FisherE & FERRTE -
#45-2
Q8.2 [% 1 Z1>TL -
Q3_F 1 F1->TU2 ®N5%hof=
94 0 100
45 0 100
X248 0.000032369
FisherE & FERRTE -
#45-3
Q8.3 [% 1 Z1>TL -
Q3_F 1 F1->TU2 ®N5%hof=
94 0 100
44 1 97.8
X248 -
Fisher B fEHEZ IR TE 0.32374
#45-4
Q8.4 [% 1 Z1>TL V-
Q3_F 1 F1->TU2 ®N5HHof=
92 2 97.9
44 1 97.8
X248 -
Fisher B &R E 1
#45-5
Q8.5 [% 1 Zn-TLV=
Q3_F 1 F1->TU2 ®N5%hof=
74 20 78.7
35 10 77.8
X21R%E 1

Fisher B &R E

1




#:45-6

Q8.6 [% 1 Z1>TL -
Q3_F 1 F1->TU2 ®N5%hof=
0 88 6 93.6
1 41 4 91.1
X248 -
Fisher B &R E 0.72733
#=45-7
Q8.7 [% 1 En-TLV=
Q3_F 1 F1->TU2 ®N5%hof=
0 94 0 100
1 45 0 100
X248 E 0.000032369
FisherE & FERRTE -
#<45-8
Q8.8 [% 1 Z1>TL -
Q3_F 1 F1->TU2 ®N5%hof=
0 94 0 100
1 45 0 100
X248 0.000032369
FisherE & FERRTE -
#45-9
Q8.9 [% 1 Z1>TL -
Q3_F 1 F->TU2 ®N5%hof=
0 94 0 100
1 44 1 97.8
X248 -
Fisher B fEHEZIR E 0.32374
#245-10
Q8.10 [% 1 Z1>TL -
Q3_F 1 F1->TU2 ®N5%hof=
0 92 2 97.9
1 45 0 100
X248 -
Fisher B IR E 1
F45-11
Q8_11 [% 1 Z1>TL -
Q3_F 1 F1->TU2 ®N5%hof=
0 94 0 100
1 41 3 93.2
X248 -
Fisher B fEHEZIR TE 0.032398
F45-12
Q8.12 [% 1 Z1>TL -
Q3_F 1 F1->TU2 ®N5%hof=
0 74 20 78.7
1 34 11 75.6
X248 0.83986

Fisher B &R E 0.66936




#45-13

Q8.13 [% 1 Z1>TL -
Q3_F 1 F1->TU2 ®N5%Hhof=
0 92 2 97.9
1 45 0 100
X248 -
Fisher B &R E 1
F245-14
Q8.14 [% 1 Z1>TL -
Q3_F 1 F1->TU2 ®N5%hof=
0 78 16 83
1 36 9 80
X248 0.84786
FisherE IEHEZIRTE 0.64605
#4515
Q8_15 [% 1 En-TLV=
Q3_F 1 F1->TU2 ®N5%hof=
0 84 10 89.4
1 41 4 91.1
X248 E -
Fisher B IR E 1
#245-16
Q8.16 [% 1 Z1>TL -
Q3_F 1 F1->TU2 ®N5Hhof=
0 89 5 94.7
1 38 7 84.4
X248 -
Fisher B fEHEZIR E 0.056421
F45-17
Q8.17 [% 1 Zn-TLV=
Q3_F 1 F1->TU2 ®N5Hhof=
0 94 0 100
1 43 2 95.6
X248 -
FisherE IEHEZIRTE 0.10322
#45-18
Q8.18 [% 1 Z1>TL V-
Q3_F 1 F1->TU2 ®N5HHof=
0 94 0 100
1 43 2 95.6
X248 -
Fisher B fEHEZIR E 0.10322
F246-1
Q3_tHRF %
Q3 K& 0 1
0 133 3 2.2
1 3 0 0
X248 E -
Fisher B &R E 1
#46-2
Q3_. %
Q3 K& 0 1
0 136 0 0
1 3 0 0
X21R5E 2.22E-16

FisherE & FERRTE -




#246-3

Q3_FDth %
Q3 K& 0 1
0 135 1 0.7
1 3 0 0
X248 -
Fisher B IR E 1
=47
Q4 % Hb
Q3_RE} 1 H% [2 &L
0 73 62 54.1
1 2 1 66.7
X248 E -
Fisher B IR E 1
ZF D h=151%& U=
48
Q5 [% 1ELy
Q3 K& 4 L\VE HMoELY Ez1=<{EW
0 50 82 2 2 36.8
1 0 3 0 0 0
X248 -
Fisher B & FE IR E 0.35472
49
Q6 % 1EE LN
Q3. RFF 1A [1-3%F 3FELLERT HHBAL|NA
0 10 12 25 3 86 74
1 0 0 0 0 3 0
X248 %E -
Fisher B &R E 1
50
Q7 [% BS5
Q3_RFE BS5 PPES [HFEYEDLLL [BHEL [bhsily
0 67 29 18 11 11 49.3
1 0 0 0 2 1 0
X248 -
Fisher B fEFEZMRTE 0.0071143
F51-1
Q8_1 [% 1 Z1>TL -
Q3. RFF 1 F1->TU2 ®N5HHof=
0 136 0 100
1 3 0 100
X21R5E 2.22E-16
FisherE & FERRTE -
#51-2
Q8.2 [% 1 Z1>TL -
Q3. RFF 1 F1->TU2 ®N5%hof=
0 136 0 100
1 3 0 100
X21R%E 2.22E-16

FisherEfEFERRTE -




#<51-3

Q8.3 [% 1 Z1>TL -
Q3_RE} 1 -T2 snoih o=
0 135 1 99.3
1 3 0 100
X21R5E -
Fisher B &R E 1
F=51-4
Q8.4 [% 1 Z1>TL -
Q3_RE} 1 -T2 snoih o=
0 133 3 97.8
1 3 0 100
X218 5E -
Fisher B &R E 1
#51-5
Q8.5 [% 1 En-TLV=
Q3_RE} 1 -T2 snsih o=
0 107 29 78.7
1 2 1 66.7
X218 5E -
Fisher B fEHEZ IR TE 0.52069
#51-6
Q8.6 [% 1 Z1>TL -
Q3_RE} 1 -T2 snoiah o=
0 126 10 92.6
1 3 0 100
X21R5E -
Fisher B &R E 1
#51-7
Q8.7 [% 1 Zn-TLV=
Q3_RE} 1 -T2 snoih ot
0 136 0 100
1 3 0 100
X 2155 2.22E-16
FisherE & FERRTE -
#51-8
Q8.8 [% 1 Z1>TL -
Q3_RE} 1 -T2 snoihort-
0 136 0 100
1 3 0 100
X 2155 2.22E-16
FisherE & FERRTE -
#51-9
Q8.9 [% 1 Z1>TL -
Q3_RE} 1 -T2 snofihort=
0 135 1 99.3
1 3 0 100
X21R5E -

Fisher B &I E

1




F51-10

Q8.10 [% 1 Z1>TL -
Q3. RFF 1 F->TU2 ®N5%hof=
0 134 2 98.5
1 3 0 100
X248 -
Fisher B IR E 1
F51-11
Q8_11 [% 1 Z1>TL -
Q3. RF 1 F1->TU2 ®N5%hoTf=
0 133 3 97.8
1 3 0 100
X248 -
Fisher B &R E 1
#51-12
Q8.12 [% 1 Z1>TL -
Q3. RFF 1 F1->TU2 ®N5Hhof=
0 106 30 77.9
1 2 1 66.7
X248 E -
Fisher B fEHEZIR TE 0.53388
#51-13
Q8.13 [% 1 Z1>TL -
Q3. RFF 1 F1->TU2 ®N5%hof=
0 134 2 98.5
1 3 0 100
X248 -
Fisher B IR E 1
#51-14
Q8.14 [% 1 Z1>TL -
Q3. RFF 1 F1->TU2 ®N5%hof=
0 113 23 83.1
1 1 2 33.3
X248 -
Fisher B fEHEZ IR TE 0.083335
#51-15
Q8_15 [% 1 Zn-TLV=
Q3. RFF 1 F1->TU2 ®N5HHof=
0 122 14 89.7
1 3 0 100
X248 E -
Fisher B &R E 1
#51-16
Q8_16 [% 1 Z1>TL -
Q3. RFF 1 F1->TU2 ®N5%hof=
0 124 12 91.2
1 3 0 100
X248 -

Fisher B &R E

1




F51-17

Q8.17 [% 1 Zn-TLV=
Q3. RFF 1 F1->TU2 ®N5%hof=
0 134 2 98.5
1 3 0 100
X248 E -
Fisher B IR E 1
#51-18
Q8.18 [% 1 Z1>TL -
Q3. RFF 1 F->TU2 ®N5%hof=
0 134 2 98.5
1 3 0 100
X248 -
Fisher B IR E 1
F52-1
| Q3_. %
Q3_tHRF 0 1
0 136 0 0
1 3 0 0
X21RE 2.22E-16
FisherE & FERRTE -
#52-2
| Q3 ZF Nt %
Q3_tHRF 0 1
0 135 1 0.7
1 3 0 0
X248 -
Fisher B & FE IR E 1
53
| Q4 % 95
Q3_HEHREF 1 H5 [2 &L
0 74 61 54.8
1 1 33.3
X248 -
Fisher B fEHEZIR E 0.60085
ZDth=11ZFRL =
54
| Q5 [% [ELy
Q3_tHRF [{&) S-SV YA Bz =&
0 48 84 2 2 35.3
1 2 1 0 0 66.7
X248 -
FisherE IEHEZIR E 0.59246
55
| Q6 % 1ELA
Q3_tHRF 1A [1-3%F 3FELLERT HHBAL|NA
0 9 12 25 2 88 6.6
1 1 0 0 1 1 33.3
X248 -
Fisher B fEFEZMRTE  0.026939




756

| Q7 [% B>
Q3_HEHREF 2S5 PPES [HFEYEDLLEL [BEHEL [bhsiny
66 29 16 13 12 485
1 2 2 0 0 20
X21R5E -
FisherE fEHEZIR TE 0.1816
F=57-1
| Q8_1 [% 1 En-TLV=
Q3_tHRF 1 F1->TU2 ®N5%hoTf=
136 0 100
3 0 100
X21R5E 2.22E-16
FisherE & FERRTE -
#=57-2
[ Q8.2 [% 1 Z1>TL -
Q3_tHRF 1 F1->TU2 ®N5Hhof=
136 0 100
3 0 100
X21R%E 2.22E-16
FisherE & FERRTE -
#57-3
[ Q8.3 [% 1 Z1>TL -
Q3_tHRF 1 F1->TU2 ®N5%hof=
135 1 99.3
3 0 100
X218 5E -
Fisher B IR E 1
#57-4
[ Q8.4 [% 1 Z1>TL -
Q3_tHRF 1 F1->TU2 ®N5%hof=
133 3 97.8
3 0 100
X218 5E -
Fisher B &I E 1
%=57-5
| Q8.5 [% 1 Zn-TLV=
Q3_tHRF 1 F1->TU2 ®N5HHof=
106 30 77.9
3 0 100
X21R5E -
Fisher B &R E 1
#57-6
[ Q8.6 [% 1 Z1>TL -
Q3_tHRF 1 F1->TU2 ®N5%hof=
127 9 93.4
2 1 66.7
X21R5E -

Fisher B &R E 0.20203




#=57-7

| Q8.7 [% 1 Zn-TLV=
Q3_HEHREF 1 -T2 snoih o=
0 136 0 100
1 3 0 100
X21R%E 2.22E-16
FisherE & FERRTE -
#57-8
[ Q8.8 [% 1 Z1>TL -
Q3_HEHREF 1 -T2 snsfiah o=
0 136 0 100
1 3 0 100
X21R%E 2.22E-16
FisherE & FERRTE -
%57-9
[ Q8.9 [% 1 Z1>TL -
Q3_HEHREF 1 -T2 snoih o=
0 135 1 99.3
1 3 0 100
X218 5E -
Fisher B & FE IR E 1
#57-10
[ Q8.10 [% 1 Z1>TL V-
Q3_HREF 1 -T2 snsihort-
0 134 2 98.5
1 3 0 100
X21R5E -
Fisher B &I E 1
#5711
| Q8 11 [% 1 Zn-TLV=
Q3_HEHREF 1 -T2 snofihort=
0 133 3 97.8
1 3 0 100
X218 5E -
Fisher B IR E 1
#=57-12
[ Q8.12 [% 1 Z1>TL -
Q3_HEHREF 1 -T2 snsih ot
0 106 30 77.9
1 2 1 66.7
X218 5E -
FisherE IEHEZIRTE 0.53388
#=57-13
[ Q8.13 [% 1 Z1>TL V-
Q3_HREF 1 -T2 snoihort-
0 134 2 98.5
1 3 0 100
X21R5E -

Fisher B &R E

1




#=57-14

[ Q8.14 [% 1 Z1>TL -
Q3_tHRF 1 F1->TU2 ®N5%Hhof=
0 111 25 81.6
1 3 0 100
X248 -
Fisher B &R E 1
#57-15
| Q8_15 [% 1 Zn-TLV-
Q3_tHRF 1 F1->TU2 ®N5%hof=
0 122 14 89.7
1 3 0 100
X248 %E -
Fisher B &I E 1
#=57-16
[ Q8_16 [% 1 Z1>TL -
Q3_tHR A 1 F1->TU2 ®N5%hof=
0 124 12 91.2
1 3 0 100
X248 E -
Fisher B &R E 1
#=57-17
| Q8.17 [% 1 Zn-TLV=
Q3_tHRF 1 F1->TU2 ®N5Hhof=
0 134 2 98.5
1 3 0 100
X248 -
Fisher B &R E 1
#=57-18
[ Q8.18 [% 1 Z1>TL -
Q3_tHRF 1 F1->TU2 ®N5Hhof=
0 134 2 98.5
1 3 0 100
X248 E -
Fisher B &I E 1
58
Q3_F D th %
Q3_E 0 1
0 138 1 0.7
1 0 0[-
X21R5E 2.22E-16
FisherEfEFERRTE -
59
Q4 % Hb
Q3_E 1 $H5 [2 B
0 75 63 54.3
1 0 0-
X248 -
Fisher B &R E 1.64E-15

T DHh=141ZFRV =




760

Q5 [% 1ELy
Q3 (&L NSV IYAR E A=<
50 85 2 2 36
0 0 0 0-
X21R5E 2.22E-16
Fisher B &R E -
761
Q6 % 1EE LN
Q3_E 1FELUA [1-35 3ELLEHT HHSEL[NA
10 12 25 3 89 7.2
0 0 0 0 0[-
X21R5E 0.0001514
FisherE & FERRTE -
62
Q7 [% BS5
Q3_ R =) PPES [HFEYEDLLEL [BEHEL [bhsiy
67 29 18 13 12 48.2
0 0 0 0 0-
X212 E 1.46E-15
FisherE & FERRTE -
#263-1
Q8_1 [% 1 Z1>TLVf-
Q3 1 -T2 snofih o=
139 0 100
0 0[-
X218 5E -
FisherE & FERRTE -
#63-2
Q8.2 [% 1 Z1>TL -
Q3_E 1 -T2 snsfihort=
139 0 100
0 0[-
X218 5E -
Fisher B &I E 1
#<63-3
Q8.3 [% 1 Z1>TLVf-
Q3_E 1 -T2 snsih o=
138 1 99.3
0 0-
X21R%E 2.22E-16
FisherE R FERRTE -
#2634
Q8.4 [% 1 Z1>TL -
Q3_E 1 -T2 snofih ot
136 3 97.8
0 0[-
X21R%E 2.22E-16

FisherE & FERRTE -




%:63-5

Q8.5 [% 1 Zn-TLV=
Q3_E 1 -T2 snsih o=
0 109 30 78.4
1 0 0-
X21R%E 2.07E-11
FisherE & FERRTE -
#<63-6
Q8.6 [% 1 1> TLV=
Q3_E 1 -T2 snsih ot
0 129 10 92.8
1 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
%63-7
Q8.7 [% 1 En-TLV=
Q3 1 -T2 snsihort=
0 139 0 100
1 0 0[-
X21R5E -
FisherE & FERRTE -
#<63-8
Q8.8 [% 1 1> TLV-
Q3_E 1 -T2 snsih o=
0 139 0 100
1 0 0[-
X218 5E -
FisherE & FERRTE -
#63-9
Q8.9 [% 1 1> TLV-
Q3_E 1 H-TU2 snsihort-
0 138 1 99.3
1 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
#63-10
Q8.10 [% 1 1> TLV=
Q3_E 1 -T2 snofihort=
0 137 2 98.6
1 0 0[-
X21R%E 2.22E-16
FisherE & FERRTE -
#63-11
Q8_11 [% 1 1> TLV=
Q3_E 1 -T2 snsih ot
0 136 3 97.8
1 0 0[-
X21R5E 2.22E-16

FisherE & FERRTE -




#63-12

Q8.12 [% 1 1> TLV=
Q3 1 -T2 snsih o=
0 108 31 77.7
1 0 0-
X21R%E 6.53E-11
FisherE & FERRTE -
#63-13
Q8.13 [% 1 1> TLV=
Q3_E 1 -T2 snsih o=
0 137 2 98.6
1 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
#63-14
Q8.14 [% 1 1> TLV=
Q3_E 1 -T2 snoih o=
0 114 25 82
1 0 0-
X21R%E 4.39E-14
FisherE & FERRTE -
#63-15
Q8_15 [% 1 Zn-TLV=
Q3_E 1 -T2 snofihort=
0 125 14 89.9
1 0 0[-
X21R%E 2.22E-16
FisherE & FERRTE -
#63-16
Q8.16 [% 1 1> TLV=
Q3_E 1 -T2 snsfihort=
0 127 12 91.4
1 0 0[-
X21R5E 2.22E-16
FisherE & FERRTE -
#63-17
Q8.17 [% 1 Zn-TLV=
Q3_E 1 -T2 snsih o=
0 137 2 98.6
1 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
#63-18
Q8.18 [% 1 1> TLV-
Q3_E 1 -T2 snofih ot
0 137 2 98.6
1 0 0[-
X21R%E 2.22E-16

FisherE & FERRTE -




764

| Q4 % 9B
Q3_F D th 1 $3% [2 &L
75 62 54.7
0 1 0
X248 -
FisherE fEHEZIRE 0.46043
ZDfth=11ZFRL =
765
| Q5 [% [ELy
Q3_FDth EIR) NSV Y AR ZEZ1=-<{HW
49 85 2 2 35.5
1 0 0 0 100
X248 %E -
Fisher B fEHEZIR E 0.38849
7266
| Q6 % 1FELA
Q3_F D th 1A [1-35F SELLERT HMHSEL|NA
10 12 24 3 89 7.2
0 0 1 0 0 0
X248 -
Fisher B &R E 1
67
[ Q7 [% B>
Q3_FDth BS5 PPES [HFEYEDLLZL [BEHEL [bhsily
67 29 17 13 12 48.6
0 0 1 0 0 0
X248 -
Fisher B {EFEZMRTE  0.30935
268-1
| Q8_1 [% 1 Zn-TLV=
Q3_Z Dt 1 H->TU2 ®nihof-
138 0 100
1 0 100
X21R%E 2.22E-16
FisherE & FERRTE -
#<68-2
[ Q82 [% 1 Z1>TL V-
Q3_Z Dt 1 H->TU2 ®nihof-
138 0 100
1 0 100
X21R%E 2.22E-16
FisherE & FERRTE -
#<68-3
[ Q8.3 [% 1 Z1>TL -
Q3_Z Dt 1 H->TU2 #nihof-
137 1 99.3
1 0 100
X248 -

Fisher EL i HE IR E




#268-4

[ Q8.4 [% 1 Z1>TL -
Q3_F D th 1 -T2 snsih o=
0 135 3 97.8
1 1 0 100
X218 5E -
Fisher B &R E 1
<685
| Q8.5 [% 1 Zn-TLV-
Q3_FDth 1 -T2 snsih ot
0 108 30 78.3
1 1 0 100
X21R5E -
Fisher B &I E 1
<686
[ Q8.6 [% 1 Z1>TL -
Q3_F D th 1 -T2 snsihort=
0 128 10 92.8
1 1 0 100
X218 5E -
Fisher B &R E 1
#<68-7
| Q8.7 [% 1 Zn-TLV=
Q3_F D th 1 -T2 snsih o=
0 138 0 100
1 1 0 100
X21R5E 2.22E-16
FisherE & FERRTE -
#<68-8
[ Q8.8 [% 1 Z1>TL -
Q3_F D th 1 H-TU2 snsihort-
0 138 0 100
1 1 0 100
X21R%E 2.22E-16
FisherE & FERRTE -
#<68-9
[ Q8.9 [% 1 Z1>TL V-
Q3_F D th 1 -T2 snofihort=
0 137 1 99.3
1 1 0 100
X218 5E -
Fisher B IR E 1
#268-10
[ Q8.10 [% 1 Z1>TL -
Q3_F D th 1 -T2 snsih ot
0 136 2 98.6
1 1 0 100
X21R5E -

Fisher B &R E

1




#268-11

| Q8_11 [% 1 Zn-TLV=
Q3_Z Dt 1 F1->TU2 ®N5%Hhof=
0 135 3 97.8
1 1 0 100
X248 -
Fisher B &R E 1
#68-12
[ Q8.12 [% 1 Z1>TL -
Q3_Z Dt 1 F1->TU2 ®N5%hof=
0 107 31 77.5
1 1 0 100
X248 %E -
Fisher B &I E 1
#68-13
[ Q8.13 [% 1 Z1>TL -
Q3_Z Dt 1 F1->TU2 ®N5%hof=
0 136 2 98.6
1 1 0 100
X248 E -
Fisher B &R E 1
#268-14
[ Q8.14 [% 1 Z1>TL -
Q3_Z Dt 1 F1->TU2 ®N5Hhof=
0 113 25 81.9
1 1 0 100
X248 -
Fisher B &R E 1
#68-15
| Q8_15 [% 1 Zn-TLV=
Q3_Z Dt 1 F1->TU2 ®N5Hhof=
0 124 14 89.9
1 1 0 100
X248 E -
Fisher B &I E 1
#268-16
[ Q8.16 [% 1 Z1>TL V-
Q3_Z Dt 1 F1->TU2 ®N5%hof=
0 126 12 91.3
1 1 0 100
X248 -
Fisher B IR E 1
#68-17
| Q8.17 [% 1 Zn-TLV=
Q3_Z Dt 1 F1->TU2 ®N5%hof=
0 136 2 98.6
1 1 0 100
X248 -

Fisher B &R E

1




#268-18

[ Q8.18 [% 1 Z1>TL -
Q3_Z Dt 1 F1->TU2 ®N5%Hhof=
0 136 2 98.6
1 1 0 100
X248 -
Fisher B &R E 1
769
Q5 [% 1ELy
Q4 [FL NSAEZY AR EZ =GN
0 29 46 0 0 38.7
1 21 39 2 1 33.3
X248 E -
FisherE fEHEZIRE 0.013225
B Z =W =161ZER V=
70
Q6 % 1EE LN
Q4 1A [1-38 3ELL LR HMHSEL|NA
0 7 9 10 3 46 9.3
1 3 3 15 0 42 48
X248 -
FisherE IEHEZIR E 0.06219
ZF D h=151%p& L=
=71
Q7 [% BS5
Q4 2S5 PPES [HFEYEDLLEL [BHEL [bhsily
0 41 15 9 5 5 54.7
1 26 14 9 8 6 41.3
X248 -
Fisher B fEHEZIRTE 0.28118
ZDth=11ZFRL =
F=72-1
Q8_1 [% 1 Z1>TL -
Q4 1 -T2 F5hm-oF
0 75 0 100
1 63 0 100
X212 E 1.64E-15
FisherE & FERRTE -
ZF D h=151%p& L=
=722
Q8.2 [% 1 Z1>TL -
Q4 1 -T2 F5hm-oF=
0 75 0 100
1 63 0 100
X212 E 1.64E-15
FisherE & FERRTE -
ZF D h=151%p& L=
#=72-3
Q8.3 [% 1 Z1>TL -
Q4 1 -T2 F5hm-oF=
0 74 1 98.7
1 63 0 100
X248 -
Fisher B & FE IR E 1

Z D Hh=141ZFRV =




#=72-4

Q8.4 [% 1 Z1>TL -
Q4 1 -T2 snsih o=
0 73 2 97.3
1 62 1 98.4
X248 E -
Fisher B &R E 1
F D h=15I%p& LN -
%=72-5
Q8.5 [% 1 En-TLV=
Q4 1 -T2 snsih ot
0 56 19 74.7
1 52 11 82.5
X248 -
Fisher B &R E 0.45461
F D h=151%p& LN -
#72-6
Q8.6 [% 1 Z1>TL -
Q4 1 -T2 snsihort=
0 68 7 90.7
1 60 3 95.2
X248 E -
FisherE fEHEZ IR TE 0.39206
ZF D h=151%p& LN -
=72-7
Q8.7 [% 1 Zn-TLV-
Q4 1 -T2 snsih o=
0 75 0 100
1 63 0 100
X212 E 1.64E-15
FisherE & FERRTE -
ZF D h=151%p& L=
#=72-8
Q8.8 [% 1 Z1>TL -
Q4 1 H-TU2 snsihort-
0 75 0 100
1 63 0 100
X212 E 1.64E-15
FisherE & FERRTE -
ZF D h=151%p& L=
#=72-9
Q8.9 [% 1 Z1>TL -
Q4 1 -T2 snofihort=
0 75 0 100
1 62 1 98.4
X248 -
Fisher B fEHEZIRE 0.46043
F D h=151%& LN =
#=72-10
Q8.10 [% 1 Z1>TL -
Q4 1 -T2 snsih ot
0 75 0 100
1 61 2 96.8
X248 -
Fisher B fEHEZIR E 0.21802

T DHh=141ZFRV =




F:=72-11

Q8_11 [% 1 Z1>TL -
Q4 1 -T2 F5hm-F=
0 74 1 98.7
1 61 2 96.8
X248 -
Fisher B &R E 0.60085
F D h=151Zp& U=
F#72-12
Q8.12 [% 1 Z1>TL -
Q4 1 -T2 F5hm-F-
0 59 16 78.7
1 48 15 76.2
X248 %E -
Fisher B IR E 0.87433
F D h=151%p& L=
#=72-13
Q8.13 [% 1 Z1>TL -
Q4 1 -T2 F5hm-oF
0 75 0 100
1 61 2 96.8
X248 E -
Fisher B &R E 0.21802
ZF D h=151%p& L=
#=72-14
Q8.14 [% 1 Z1>TL -
Q4 1 -T2 F5hm-oF=
0 65 10 86.7
1 48 15 76.2
X248 -
Fisher B &R E 0.28264
F D h=151Zp& U=
#72-15
Q8_15 [% 1 Zn-TLV=
Q4 1 -T2 F5hm-oF=
0 72 3 96
1 52 11 82.5
X248 -
Fisher B &R E 0.024224
ZF D h=151%p& L=
#=72-16
Q8.16 [% 1 Z1>TL -
Q4 1 -T2 F5hm-oF
0 68 7 90.7
1 58 5 92.1
X248 -
Fisher B IR E 1
F D h=151%p& =
#=72-17
Q8.17 [% 1 Zn-TLV=
Q4 1 -T2 F5hm-oF
0 73 2 97.3
1 63 0 100
X248 -
Fisher B &R E 0.50735

Z D Hh=141ZFRV =




F72-18

Q8.18 [% 1 Z1>TL -
Q4 1 -T2 F5hm-F=
0 73 2 97.3
1 63 0 100
X248 -
Fisher B IR E 0.50735
ZDth=11ZFRL =
=73
Q6 % 1EE LN
Q5 1ELURN [1-35F 3FELLERT HHBAL|NA
[FL 10 12 25 3 0 20
LZ 0 0 0 0 85 0
HhhoEL 0 0 0 0 2 0
BEZ1=<EW 0 0 0 0 2 0
X248 -
Fisher B &R E 1
=74
Q7 [% BS5
Q5 2S5 PPES [HFEYEDLLEL [BEHEL [bhniny
[FL 27 11 5 4 3 54
LZ 39 17 13 8 8 459
HhhoE 1 1 0 0 0 50
B A=W 0 0 0 1 1 0
X248 E -
Fisher B &R E 0.47196
#=75-1
Q8_1 [% 1 Z1>TL -
Q5 1 F1->TU2 ®N5%hof=
EIR) 50 0 100
LDVZ 85 0 100
HhhoEL 2 0 100
B A=< 2 0 100
X21R%E 2.22E-16
FisherE & FERRTE -
#75-2
Q8.2 [% 1 Z1>TL -
Q5 1 F1->TU2 ®N5%hof=
EIR) 50 0 100
LDVZ 85 0 100
HhhoEL 2 0 100
B A=< 2 0 100
X212 E 2.22E-16
FisherE & FERRTE -
#75-3
Q8.3 [% 1 Z1>TL -
Q5 1 F1->TU2 ®N5%hof=
EIR) 49 1 98
LDVZ 85 0 100
HhhoEL 2 0 100
B Z1=<EW 2 0 100
X248 -
Fisher B &R E 0.38849




754

Q8.4 [% 1 Z1>TL -
Q5 1 F->TU2 ®N5%hof=
EIR) 48 2 96
LDVZ 84 1 98.8
HhhoEL 2 0 100
B A=< 2 0 100
X248 -
Fisher B &R E 0.59246
#75-5
Q8.5 [% 1 En-TLV=
Q5 1 F->TU2 ®N5%hof=
EIR) 38 12 76
LDVZ 69 16 81.2
HhhoEL 0 2 0
B A=< 2 0 100
X248 -
Fisher B &R E 0.089149
#75-6
Q8.6 [% 1 Z1>TL -
Q5 1 F1->TU2 ®N5%hof=
EIR) 46 4 92
LDVZ 80 5 941
HhhoEL 0 1 0
B A=< 0 0[-
X248 -
Fisher B &I E 0.22474
#75-7
Q8.7 [% 1 Zn-TLV=
Q5 1 F1->TU2 ®N5%Hof=
EIR) 50 0 100
LDVZ 85 0 100
HhhoEL 2 0 100
B A=< 2 0 100
X21R%E 2.22E-16
FisherE & FERRTE -
#275-8
Q8.8 [% 1 Z1>TL -
Q5 1 F1->TU2 ®N5HHof=
EIR) 50 0 100
LDVZ 85 0 100
HhhoEL 2 0 100
B A=< 2 0 100
X21R%E 2.22E-16
FisherE R FERRTE -
#75-9
Q8.9 [% 1 Z1>TL -
Q5 1 F1->TU2 ®N5%hof=
EIR) 50 0 100
LDVZ 84 1 98.8
HhhoEL 2 0 100
B A=< 2 0 100
X248 -

Fisher B &I E 1




F:75-10

Q8.10 [% 1 Z1>TL -
Q5 1 F1->TU2 ®N5%hof=
[FL 50 0 100
LDZ 83 2 97.6
HhhoEL 2 0 100
B A=< 2 0 100
X248 -
Fisher B &R E 0.55688
F75-11
Q8_11 [% 1 Z1>TL -
Q5 1 F1->TU2 ®N5%hof=
[FL 49 1 98
LDZ 83 2 97.6
HhhoEL 2 0 100
B A=< 2 0 100
X248 -
Fisher B &R E 1
F75-12
Q8.12 [% 1 Z1>TL -
Q5 1 F1->TU2 ®N5%hof=
[FL 36 14 72
LDVZ 70 15 82.4
HhhoEL 0 2 0
E A=< 2 0 100
X248 -
Fisher B &R E 0.040943
#75-13
Q8.13 [% 1 Z1>TL -
Q5 1 F1->TU2 ®N5%hof=
[FL 50 0 100
LDVZ 83 2 97.6
HhhoEL 2 0 100
A=< 2 0 100
X248 -
Fisher B &R E 0.55688
#75-14
Q8.14 [% 1 Z1>TL -
Q5 1 F1->TU2 ®N5%hof=
[FL 49 1 98
LDVZ 63 22 74.1
HhhoEL 0 2 0
A=< 2 0 100
X248 -
Fisher B &R E 0.000028783
#75-15
Q8_15 [% 1 Zn-TLV=
Q5 1 F1->TU2 ®N5%hof=
EIN 47 3 94
LDVZ 74 11 87.1
HhhoEL 2 0 100
B A=< 2 0 100
X248 -
Fisher B &R E 0.51341




F:75-16

Q8.16 [% 1 Z1>TL -
Q5 1 F1->TU2 ®N5%hof=
EIR) 44 6 88
LDZ 79 6 92.9
HhhoEL 2 0 100
B A=< 2 0 100
X248 -
Fisher B &R E 0.55562
F*75-17
Q8.17 [% 1 Zn-TLV=
Q5 1 F1->TU2 ®N5%hof=
EIR) 50 0 100
LDZ 83 2 97.6
HhhoEL 2 0 100
B A=< 2 0 100
X248 -
Fisher B &R E 0.55688
#75-18
Q8.18 [% 1 Z1>TL -
Q5 1 F1->TU2 ®N5%hof=
EIR) 50 0 100
LDVZ 83 2 97.6
HhhoEL 2 0 100
E A=< 2 0 100
X248 -
Fisher B &R E 0.55688
76
Q7 [% BS5
Q6 2S5 PPES [HFEYEDLLEL [BHEL [bhnily
15 LA 6 2 0 2 0 60
1-3% 7 3 1 1 0 58.3
3ELL LR 13 6 2 1 3 52
HhhoEL 1 0 2 0 0 33.3
NA 40 18 13 9 9 44.9
X248 -
Fisher B IR E 0.43084
F=77-1
Q8_1 [% 1 Z1>TL V-
Q6 1 -T2 F5hm-oF
15 LA 10 0 100
1-3% 12 0 100
3ELL LR 25 0 100
HhhoEL 3 0 100
NA 89 0 100
X212 E 0.00015137
FisherE & FERRTE -
#77-2
Q8.2 [% 1 Z1>TL -
Q6 1 -T2 F5hm-oF
15 LA 10 0 100
1-3% 12 0 100
3ELL LR 25 0 100
HhhoEL 3 0 100
NA 89 0 100
X21R%E 0.00015137

FisherEfEFERRTE -




F+=77-3

Q8.3 [% 1 Z1>TL -
Q6 1 -T2 snsih o=
15 LA 10 0 100
1-3% 12 0 100
3ELL LR 24 1 96
HhhoE 3 0 100
NA 89 0 100
X248 %€ -
Fisher B &I E 1
=774
Q8.4 [% 1 Z1>TL -
Q6 1 -T2 snsih o=
1 LA 10 0 100
1-3% 12 0 100
3ELL LR 24 1 96
HhhoE 2 1 66.7
NA 88 1 98.9
X248 -
Fisher B fEHEZ IR TE 0.20816
#77-5
Q8.5 [% 1 Zn-TLV=
Q6 1 -T2 snoiah o=
15 LA 8 2 80
1-3% 7 5 58.3
3ELL LR 21 4 84
HhhoE 2 1 66.7
NA 71 18 79.8
X248 -
Fisher B IEHEZIR TE 0.335
#=77-6
Q8.6 [% 1 Z1>TL V-
Q6 1 -T2 snofihort=
15 LA 10 0 100
1-3% 10 2 83.3
3ELL LR 23 2 92
HhhoEL 3 0 100
NA 83 6 93.3
X248 -
FisherE fEHEZIRTE 0.62397
=77-7
Q8.7 [% 1 Zn-TLV=
Q6 1 H-TU2 snsihort-
15 LA 10 0 100
1-3% 12 0 100
3ELL LR 25 0 100
HhhoEL 3 0 100
NA 89 0 100
X21R5E 0.00015137

FisherE & FERRTE -




F77-8

Q8.8 [% 1 Z1>TL -
Q6 1 -T2 snsih o=
15 LA 10 0 100
1-3% 12 0 100
3ELL LR 25 0 100
HhhoEL 3 0 100
NA 89 0 100
X21R5E 0.00015137
FisherE & FERRTE -
#77-9
Q8.9 [% 1 Z1>TL -
Q6 1 -T2 snsih o=
15 LA 10 0 100
1-3% 12 0 100
3ELL LR 25 0 100
HhoEL 3 0 100
NA 88 1 98.9
X248 -
Fisher B IR E 1
#=77-10
Q8.10 [% 1 Z1>TL -
Q6 1 -T2 snsih o=
15 LA 10 0 100
1-3% 12 0 100
3ELL LR 25 0 100
HhhoEL 3 0 100
NA 87 2 97.8
X248 -
Fisher B &R E 1
£77-11
Q8_11 [% 1 Z1>TL -
Q6 1 H-TU2 snsihort-
15 LA 10 0 100
1-3% 12 0 100
3ELL LR 24 1 96
HhhoEL 3 0 100
NA 87 2 97.8
X248 -
Fisher B &I E 1
#77-12
Q8.12 [% 1 Z1>TL V-
Q6 1 -T2 snoih ot
1ELA 7 3 70
1-3%F 10 2 83.3
3FELLERT 18 7 72
HhhoEL 1 2 33.3
NA 72 17 80.9
X248 -
Fisher B &R E 0.41374




F=77-13

Q8.13 [% 1 Z1>TL -
Q6 1 -T2 F5hm-F=
15 LA 10 0 100
1-3% 12 0 100
3ELL LR 25 0 100
HhhoEL 3 0 100
NA 87 2 97.8
X248 -
Fisher B &I E 1
*77-14
Q8.14 [% 1 Z1>TL -
Q6 1 -T2 F5hm-oF
15 LA 10 0 100
1-3% 12 0 100
3ELL LR 24 1 96
HhhoEL 3 0 100
NA 65 24 73
X248 -
Fisher B IR E 1
#*77-15
Q8_15 [% 1 En-TLV=
Q6 1 -T2 F5hm-F-
15 LA 9 1 90
1-3%5 11 1 91.7
3ELL LR 24 1 96
HhhoEL 3 0 100
NA 78 11 87.6
X248 -
FisherE fEHEZIRTE 0.81633
#*=77-16
Q8.16 [% 1 Z1>TL V-
Q6 1 -T2 F5hm-oF
15 LA 9 1 90
1-3%5 11 1 91.7
3ELL LR 22 3 88
HhhoEL 2 1 66.7
NA 83 6 93.3
X248 -
FisherE fEHEZIRTE 0.62218
*77-17
Q8.17 [% 1 Zn-TLV=
Q6 1 -T2 F5hm-oF-
15 LA 10 0 100
1-3% 12 0 100
3ELL LR 25 0 100
HhhoEL 3 0 100
NA 87 2 97.8
X248 -

Fisher B &R E

1




F=77-18

Q8.18 [% 1 Z1>TL -
Q6 1 -T2 F5hm-oF
15 LA 10 0 100
1-3% 12 0 100
3ELL LR 25 0 100
HhhoE 3 0 100
NA 87 2 97.8
X248 -
Fisher B &R E 1
#78-1
Q8_1 [% 1 Z1>TL -
Q7 1 F1->TU2 ®N5%hof=
BS5 67 0 100
PHES 29 0 100
HEYEDHEHL 18 0 100
BEhizly 13 0 100
HhhoEL 12 0 100
X212 E 1.46E-15
FisherE & FERRTE -
#78-2
Q8.2 [% 1 Z1>TL -
Q7 1 F->TU2 ®N5%hof=
BS5 67 0 100
PHES 29 0 100
HEYEDHEL 18 0 100
BEhizly 13 0 100
HhhoEL 12 0 100
X212 E 1.46E-15
FisherE & FERRTE -
#78-3
Q8.3 [% 1 Z1>TL -
Q7 1 F1->TU2 ®N5%hof=
BS5 66 1 98.5
PHES 29 0 100
HEYEDHEL 18 0 100
BEhily 13 0 100
HhhoEL 12 0 100
X248 -
Fisher B &I E 1
%784
Q8.4 [% 1 Z1>TL -
Q7 1 F1->TU2 ®N5Hhof=
BS5 66 1 98.5
PHES 29 0 100
HEYEDHEL 17 1 94.4
BEhily 13 0 100
HhhoEL 11 1 91.7
X248 -
Fisher B &R E 0.23851




<785

Q8.5 [% 1 Zn-TLV=
Q7 1 F1->TU2 ®N5%hof=
BS 52 15 71.6
PHES 23 6 79.3
HEYEDHEHL 15 3 83.3
BbHily 9 4 69.2
HhhoEL 10 2 83.3
X248 -
Fisher B &I E 0.90938
%786
Q8.6 [% 1 Z1>TL -
Q7 1 F1->TU2 ®N5Hhof=
BS5 63 4 94
PHES 26 3 89.7
HEYEDHEHL 17 1 94.4
BEhizly 12 1 92.3
HhhoE 11 1 91.7
X248 -
Fisher B &R E 0.91434
#78-7
Q8.7 [% 1 Zn-TLV=
Q7 1 F1->TU2 ®N5%hof=
BS5 67 0 100
PHES 29 0 100
HEYEDHEHL 18 0 100
BEhizly 13 0 100
HhhoEL 12 0 100
X212 E 1.46E-15
FisherE & FERRTE -
#<78-8
Q8.8 [% 1 Z1>TL -
Q7 1 F1->TU2 ®N5%Hof=
BS5 67 0 100
PHES 29 0 100
HEYEDHEHL 18 0 100
BEhizly 13 0 100
HhhoEL 12 0 100
X212 E 1.46E-15
FisherE & FERRTE -
#78-9
Q8.9 [% 1 Z1>TL -
Q7 1 F1->TU2 ®N5%hof=
BS5 67 0 100
PHES 29 0 100
HEYEDHEHL 18 0 100
BEhizly 12 1 92.3
HhhoEL 12 0 100
X248 -
Fisher B &R E 0.17986




7:78-10

Q8.10 [% 1 Z1>TL -
Q7 1 F1->TU2 ®N5%Hhof=
=) 67 0 100
PHES 29 0 100
HEYEDHEL 17 1 94.4
BEhily 13 0 100
HhoEL 11 1 91.7
X248 -
Fisher B &R E 0.069753
#78-11
Q8_11 [% 1 Z1>TL -
Q7 1 F1->TU2 ®N5%hof=
BS5 66 1 98.5
PHES 29 0 100
HEYEDHEHL 18 0 100
Bbhi 11 2 84.6
HhhoEL 12 0 100
X248 -
Fisher B &I E 0.099665
#78-12
Q8.12 [% 1 Z1>TL -
Q7 1 F->TU2 ®N5%hof=
BS5 56 11 83.6
PHES 21 8 72.4
HEYEDHEL 12 6 66.7
BbHily 9 4 69.2
HhhoEL 10 2 83.3
X248 -
Fisher B &R E 0.38827
#78-13
Q8.13 [% 1 Z1>TL V-
Q7 1 F1->TU2 ®N5%hof=
BS5 67 0 100
PHES 29 0 100
HEYEDHEL 17 1 94.4
BEhily 13 0 100
HhhoEL 11 1 91.7
X248 -
Fisher B &R E 0.069753
#78-14
Q8.14 [% 1 Z1>TL -
Q7 1 F1->TU2 ®N5Hhof=
BS 61 6 91
PHES 21 8 72.4
HEYEDHEL 14 4 77.8
Bhi 10 3 76.9
HhhoEL 8 4 66.7
X248 -
Fisher B &R E 0.05185




F<78-15

Q8_15 [% 1 En-TLV-
Q7 1 F->TU2 ®N5%hof=
B> 65 2 97
PHES 23 6 79.3
HEYEDHEL 17 1 94.4
Bbhi 11 2 84.6
HhhoEL 9 3 75
X248 -
FisherE fEHEZIRTE 0.0099428
#78-16
Q8.16 [% 1 Z1>TL -
Q7 1 F1->TU2 ®N5%HhoF=
BS 64 3 955
PHES 24 5 82.8
HEYEDHEHL 17 1 94.4
BEhily 12 1 92.3
HhhoEL 10 2 83.3
X248 -
Fisher B IR E 0.1741
#*78-17
Q8.17 [% 1 En-TLV=
Q7 1 F->TU2 ®N5%Hof=
B> 66 1 98.5
PHES 29 0 100
HEYEDHEHL 18 0 100
BEhily 13 0 100
HhhoE 11 1 91.7
X248 -
FisherE fEHEZIRTE 0.35033
#78-18
Q8.18 [% 1 Z1>TL V-
Q7 1 F1->TU2 ®N5Hhof=
BS5 66 1 98.5
PHES 29 0 100
HEYEDHEL 18 0 100
BEhizly 13 0 100
HhhoEL 11 1 91.7
X248 -
FisherE fEHEZIRTE 0.35033
#79-1
Q8.2 [% 1 Z1>TL -
Q8_1 1 -T2 snsfihort=
1 ®Fl>TULV= 139 0 100
2 JISE M= 0 0[-
X248 -
FisherE & FERRTE -
#79-2
Q8.3 [% 1 Z1>TL -
Q8_1 1 -T2 snofihort=
1 ®Fl>TULV= 138 1 99.3
2 JISEMoT= 0 0-
X212 E 2.22E-16

Fisher B &R E




%79-3

Q8.4 [% 1 1> TLV=
Q8_1 1 -T2 snoih o=
1 5o TLVE= 136 3 97.8
2 JsiEh ot 0 0[-
X21R%E 2.22E-16
FisherE & FERRTE -
#=79-4
Q8.5 [% 1 Zn-TLV=
Q8_1 1 -T2 snoih o=
1 &51-TLV= 109 30 78.4
2 JsiEh ot 0 0[-
X21R%E 2.07E-11
FisherE & FERRTE -
#79-5
Q8.6 [% 1 1> TLV=
Q8_1 1 -T2 snsih o=
1 &> TLV= 129 10 92.8
2 JsiEh ot 0 0-
X21R5E 2.22E-16
FisherE & FERRTE -
%796
Q8.7 [% 1 Zn-TLV=
Q8_1 1 -T2 snoiah o=
1 51> TLVE= 139 0 100
2 JsiEh ot 0 0-
X218 5E -
FisherE & FERRTE -
#79-7
Q8.8 [% 1 1> TLV=
Q8_1 1 -T2 snoih ot
1 51> TLVE= 139 0 100
2 JsiEh ot 0 0[-
X218 5E -
FisherE & FERRTE -
#79-8
Q8.9 [% 1 1> TLV=
Q8_1 1 -T2 snoihort-
1 51> TLVE= 138 1 99.3
2 JsiEh ot 0 0[-
X21R5E 2.22E-16
FisherE & FERRTE -
#79-9
Q8.10 [% 1 1> TLV=
Q8_1 1 -T2 snofihort=
1 51> TLVE= 137 2 98.6
2 JsiEh ot 0 0[-
X21R%E 2.22E-16

FisherE & FERRTE -




79-10

Q8_11 [% 1 1> TLV=
Q8_1 1 -T2 snsih o=
1 &51-TLV= 136 3 97.8
2 JISE M= 0 0-
X212 E 2.22E-16
FisherE & FERRTE -
#79-11
Q8.12 [% 1 1> TLV=
Q8_1 1 -T2 snsih ot
1 5o TLVE= 108 31 77.7
2 JISE Mo 0 0-
X 2155 6.53E—11
FisherE & FERRTE -
#=79-12
Q8.13 [% 1 1> TLV=
Q8_1 1 -T2 snsihort=
1 51> TLV= 137 2 98.6
2 JISE M= 0 0[-
X 2155 2.22E-16
FisherE & FERRTE -
#79-13
Q8.14 [% 1 1> TLV-
Q8_1 1 -T2 snsih o=
1 51> TLV= 114 25 82
2 JISE M oT= 0 0[-
X212 E 4.39E-14
FisherE & FERRTE -
#79-14
Q8_15 [% 1 Zn-TLV=
Q8_1 1 H-TU2 snsihort-
1 51> TLVE= 125 14 89.9
2 JISE M= 0 0-
X 2155 2.22E-16
FisherE & FERRTE -
#79-15
Q8_16 [% 1 1> TLV=
Q8_1 1 -T2 snofihort=
1 51> TLVE= 127 12 91.4
2 JISEMNoT= 0 0[-
X212 E 2.22E-16
FisherE & FERRTE -
#79-16
Q8.17 [% 1 Zn-TLV=
Q8_1 1 -T2 snsih ot
1 51> TLVE= 137 2 98.6
2 JISEMoT= 0 0[-
X 2155 2.22E-16

FisherE & FERRTE -




#:=79-17

Q8.18 [% 1 1> TLV=
Q8_1 1 -T2 snsih o=
1 &51-TLV= 137 2 98.6
2 JISE M= 0 0-
X212 E 2.22E-16
FisherE & FERRTE -
280-1
Q8.3 [% 1 1> TLV=
Q8.2 1 -T2 snsih ot
1 5o TLVE= 138 1 99.3
2 JISE Mo 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
#2802
Q8.4 [% 1 1> TLV=
Q8.2 1 -T2 snsihort=
1 51> TLV= 136 3 97.8
2 JISE M= 0 0[-
X21R%E 2.22E-16
FisherE & FERRTE -
#<80-3
Q8.5 [% 1 Zn-TLV=
Q8.2 1 -T2 snsih o=
1 51> TLV= 109 30 78.4
2 JISE M oT= 0 0[-
X21R%E 2.07E-11
FisherE & FERRTE -
#280-4
Q8.6 [% 1 1> TLV-
Q8.2 1 H-TU2 snsihort-
1 51> TLVE= 129 10 92.8
2 JISE M= 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
#:80-5
Q8.7 [% 1 Zn-TLV=
Q8.2 1 -T2 snofihort=
1 51> TLVE= 139 0 100
2 JISEMNoT= 0 0[-
X218 5E -
FisherE & FERRTE -
#<80-6
Q8.8 [% 1 1> TLV=
Q8.2 1 -T2 snsih ot
1 51> TLVE= 139 0 100
2 JISEMoT= 0 0[-
X218 5E -

FisherE & FERRTE -




#<80-7

Q8.9 [% 1 1> TLV=
Q8.2 1 -T2 snsih o=
1 &51-TLV= 138 1 99.3
2 JISE M= 0 0-
X212 E 2.22E-16
FisherE & FERRTE -
#<80-8
Q8.10 [% 1 1> TLV=
Q8.2 1 -T2 snsih ot
1 5o TLVE= 137 2 98.6
2 JISE Mo 0 0-
X2R2E 2.22E-16
FisherE & FERRTE -
#<80-9
Q8_11 [% 1 1> TLV=
Q8.2 1 -T2 snsihort=
1 51> TLV= 136 3 97.8
2 JISE M= 0 0[-
X21R%E 2.22E-16
FisherE & FERRTE -
280-10
Q8.12 [% 1 1> TLV-
Q8.2 1 -T2 snsih o=
1 51> TLV= 108 31 77.7
2 JISE M oT= 0 0[-
X21R%E 6.53E—11
FisherE & FERRTE -
280-11
Q8.13 [% 1 1> TLV-
Q8.2 1 H-TU2 snsihort-
1 51> TLVE= 137 2 98.6
2 JISE M= 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
280-12
Q8.14 [% 1 1> TLV=
Q8.2 1 -T2 snofihort=
1 51> TLVE= 114 25 82
2 JISEMoT= 0 0[-
X212 E 4.39E-14
FisherE & FERRTE -
#280-13
Q8_15 [% 1 Zn-TLV=
Q8.2 1 -T2 snsih ot
1 51> TLVE= 125 14 89.9
2 JISEMoT= 0 0[-
X21R5E 2.22E-16

FisherE & FERRTE -




#280-14

Q8.16 [% 1 1> TLV=
Q8.2 1 -T2 snsih o=
1 &51-TLV= 127 12 91.4
2 JISE M= 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
#80-15
Q8.17 [% 1 Zn-TLV-
Q8.2 1 -T2 snsih ot
1 5o TLVE= 137 2 98.6
2 JISE Mo 0 0-
X2R2E 2.22E-16
FisherE & FERRTE -
280-16
Q8.18 [% 1 1> TLV=
Q8.2 1 -T2 snsihort=
1 51> TLV= 137 2 98.6
2 JISE M= 0 0[-
X21R%E 2.22E-16
FisherE & FERRTE -
#=81-1
Q8.4 [% 1 1> TLV-
Q8.3 1 -T2 snsih o=
1 51> TLV= 136 2 98.6
2 JISE M oT= 0 1 0
X21R5E -
Fisher B fEHEZIR TE 0.021583
#81-2
Q8.5 [% 1 Zn-TLV=
Q8.3 1 H-TU2 snsihort-
1 51> TLVE= 109 29 79
2 JISEMoT= 0 1 0
X21R5E -
FisherE fEHEZIR E 0.021583
#81-3
Q8.6 [% 1 1> TLV=
Q8.3 1 -T2 snofihort=
1 51> TLVE= 129 9 93.5
2 JISEMNoT= 0 1 0
X218 5E -
Fisher B fEHEZIR TE 0.071942
#81-4
Q8.7 [% 1 Zn-TLV=
Q8.3 1 -T2 snsih ot
1 51> TLVE= 138 0 100
2 JISEMoT= 1 0 100
X21R%E 2.22E-16

FisherE & FERRTE -




#<81-5

Q8.8 [% 1 Z1>TL -
Q8.3 1 -T2 F5him-o7F-
1 ®Fl>TULVF- 138 0 100
2 JISE M oT= 1 0 100
X212 E 2.22E-16
FisherE & FERRTE -
#81-6
Q8.9 [% 1 Z1>TL -
Q8.3 1 -T2 F5him-F=
1 ®Fl>TULVF= 137 1 99.3
2 JISE M= 1 0 100
X248 -
Fisher B IR E 1
#81-7
Q8.10 [% 1 Z1>TL -
Q8.3 1 -T2 F5hm-o7F
1 ®Fl>TULV= 136 2 98.6
2 JISE Mo 1 0 100
X248 -
Fisher B & FE IR E 1
#81-8
Q8_11 [% 1 Z1>TL V-
Q8.3 1 -T2 F5hm-oF=
1 ®Fl>TULV- 135 3 97.8
2 SN oT= 1 0 100
X248 -
Fisher B &I E 1
#81-9
Q8.12 [% 1 Z1>TL V-
Q8.3 1 -T2 F5hm-oF=
1 ®Fl>TULV= 108 30 78.3
2 JISE M oT= 0 1 0
X248 -
FisherE fEHEZIRTE 0.22302
#81-10
Q8.13 [% 1 Z1>TL -
Q8.3 1 -T2 F5hm-oF
1 ®Fl>TULVF= 136 2 98.6
2 JISEMoT= 1 0 100
X248 -
Fisher B IR E 1
#=81-11
Q8.14 [% 1 Z1>TL -
Q8.3 1 -T2 F5hm-oF=
1 ®Fl>TULV= 113 25 81.9
2 JISEMoT= 1 0 100
X248 -

Fisher B &R E

1




F+=81-12

Q8_15 [% 1 Zn-TLV=
Q8.3 1 -T2 snsih o=
1 &51-TLV= 124 14 89.9
2 JISE M= 1 0 100
X218 5E -
Fisher B &R E 1
#81-13
Q8.16 [% 1 1> TLV=
Q8.3 1 -T2 snsih ot
1 5o TLVE= 126 12 91.3
2 JISE Mo 1 0 100
X21R5E -
Fisher B &I E 1
#*81-14
Q8.17 [% 1 En-TLV=
Q8.3 1 -T2 snsihort=
1 51> TLV= 136 2 98.6
2 JISE M= 1 0 100
X218 5E -
Fisher B &R E 1
#81-15
Q8.18 [% 1 1> TLV-
Q8.3 1 -T2 snsih o=
1 51> TLV= 136 2 98.6
2 JISE M oT= 1 0 100
X21R5E -
Fisher B &R E 1
F282-1
Q8.5 [% 1 Zn-TLV=
Q8 4 1 H-TU2 snsihort-
1 51> TLVE= 109 27 80.1
2 JISE M= 0 3 0
X21R5E -
FisherE fEHEZIR E 0.0092696
%822
Q8.6 [% 1 1> TLV=
Q8 4 1 -T2 snofihort=
1 51> TLVE= 128 8 94.1
2 JISEMNoT= 1 2 33.3
X218 5E -
FisherE IEHEZIRTE 0.013528
#82-3
Q8.7 [% 1 Zn-TLV=
Q8 4 1 -T2 snsih ot
1 51> TLVE= 136 0 100
2 JISEMoT= 3 0 100
X21R%E 2.22E-16

Fisher B &R E




#82-4

Q8.8 [% 1 Z1>TL -
Q8.4 1 -T2 snsih o=
1 ®Fl>TULVF= 136 0 100
YA ey 3 0 100
X21R%E 2.22E-16
FisherE fEFERRTE -
825
Q8.9 [% 1 Z1>TL -
Q8.4 1 -T2 snsih o=
1 ®Fl>TULV- 135 1 99.3
2 JISE M oT= 3 0 100
X248 -
Fisher B &R E 1
<826
Q8.10 [% 1 Z1>TL -
Q8.4 1 -T2 snoih o=
1 ®F1>TULV= 135 1 99.3
2 SN oT= 2 1 66.7
X248 E -
Fisher B &R E 0.042853
#82-7
Q8_11 [% 1 Z1>TL -
Q8.4 1 -T2 snofihort=
1 ®Fl>TULV= 133 3 97.8
2 JISEMNoT= 3 0 100
X248 -
Fisher B IR E 1
#<82-8
Q8.12 [% 1 Z1>TL -
Q8.4 1 -T2 snsfihort=
1 ®Fl>TULV= 108 28 79.4
2 JISE M oT= 0 3 0
X248 -
Fisher B &I E 0.010263
#<82-9
Q8.13 [% 1 Z1>TL -
Q8.4 1 -T2 snsih o=
1 ®Fl>TULV= 135 1 99.3
2 JISE M= 2 1 66.7
X248 -
Fisher B &R E 0.042853
#282-10
Q8.14 [% 1 Z1>TL -
Q8.4 1 -T2 snofih ot
1 ®Fl>TULV= 112 24 82.4
2 JISE M= 2 1 66.7
X248 -
Fisher B &R E 0.45098




#82-11

Q8_15 [% 1 Zn-TLV=
Q8.4 1 -T2 snsih o=
1 &51-TLV= 123 13 90.4
2 JISE M= 2 1 66.7
X218 5E -
Fisher B &R E 0.27453
#82-12
Q8.16 [% 1 1> TLV=
Q8.4 1 -T2 snsih ot
1 5o TLVE= 125 11 91.9
2 JISE Mo 2 1 66.7
X218 5E -
FisherE IEHEZIRTE 0.23885
#82-13
Q8.17 [% 1 En-TLV=
Q8.4 1 -T2 snsihort=
1 51> TLV= 134 2 98.5
2 JISE M= 3 0 100
X218 5E -
Fisher B &R E 1
#282-14
Q8.18 [% 1 1> TLV-
Q8.4 1 -T2 snsih o=
1 51> TLV= 134 2 98.5
2 JISE M oT= 3 0 100
X21R5E -
Fisher B &R E 1
283-1
Q8.6 [% 1 1> TLV-
Q8.5 1 H-TU2 snsihort-
1 51> TLVE= 108 1 99.1
2 JISE M= 21 9 70
X218 5E -
FisherE IEHEZIRTE 2.98E-06
#<83-2
Q8.7 [% 1 Zn-TLV=
Q8.5 1 -T2 snofihort=
1 51> TLVE= 109 0 100
2 JISEMNoT= 30 0 100
X21R%E 2.07E-11
FisherE R FERRTE -
#<83-3
Q8.8 [% 1 1> TLV=
Q8.5 1 -T2 snsih ot
1 51> TLVE= 109 0 100
2 JISEMoT= 30 0 100
X21R%E 2.07E-11

FisherE & FERRTE -




#83-4

Q8.9 [% 1 Z1>TL -
Q8.5 1 -T2 F5hm-F-
1 ®F1>TULV= 108 1 99.1
2 JISE M= 30 0 100
X248 -
Fisher B &R E 1
%:83-5
Q8.10 [% 1 Z1>TL -
Q8.5 1 -T2 F5hm-F
1 ®Fl>TULV= 109 0 100
2 JISE Mo 28 2 93.3
X248 -
FisherE IEHEZIRTE 0.045355
#<83-6
Q8_11 [% 1 Z1>TL -
Q8.5 1 -T2 F5hm-o7F-
1 ®Fl>TULV- 109 0 100
2 JISE M= 27 3 90
X248 E -
Fisher B fEHEZIR E 0.0092696
%<83-7
Q8.12 [% 1 Z1>TL -
Q8.5 1 -T2 F5hm-oF
1 ®Fl>TULV= 98 11 89.9
2 JISE M oT= 10 20 33.3
X212 E 2.2346E-10
Fisher B &R E 1.3779E-09
#<83-8
Q8.13 [% 1 Z1>TL V-
Q8.5 1 -T2 F5hm-oF
1 ®Fl>TULV= 108 1 99.1
2 JISE M= 29 1 96.7
X248 -
FisherE IEHEZIRTE 0.3863
#<83-9
Q8.14 [% 1 Z1>TL -
Q8.5 1 -T2 F5hm-oF=
1 ®Fl>TULV= 95 14 87.2
2 JISEMNoT= 19 11 63.3
X212 E 0.0061424
Fisher B &R E 0.0057557
#83-10
Q8_15 [% 1 Zn-TLV=
Q8.5 1 -T2 F5hm-oF=
1 ®Fl>TULV= 100 9 91.7
2 JISEMoT= 25 5 83.3
X248 -
Fisher B fEHEZIR TE 0.18227




#283-11

Q8.16 [% 1 Z1>TL -
Q8.5 1 -T2 snsih o=
1 ®F1>TULV= 101 8 92.7
2 JISE M= 26 4 86.7
X218 5E -
Fisher B fEHEZIR TE 0.28915
#83-12
Q8.17 [% 1 Zn-TLV=
Q8.5 1 -T2 snsih ot
1 ®Fl>TULV= 107 2 98.2
2 JISE Mo 30 0 100
X21R5E -
Fisher B &I E 1
#83-13
Q8.18 [% 1 Z1>TL -
Q8.5 1 -T2 snsihort=
1 ®Fl>TULV- 107 2 98.2
2 JISE M= 30 0 100
X218 5E -
Fisher B &R E 1
F284-1
Q8.7 [% 1 Zn-TLV=
Q8.6 1 -T2 snsih o=
1 ®Fl>TULV= 129 0 100
2 JISE M oT= 10 0 100
X212 E 2.22E-16
FisherE & FERRTE -
<842
Q8.8 [% 1 Z1>TL -
Q8.6 1 H-TU2 snsihort-
1 ®Fl>TULV= 129 0 100
2 JISE M= 10 0 100
X21R%E 2.22E-16
FisherE & FERRTE -
#<84-3
Q8.9 [% 1 Z1>TL V-
Q8.6 1 -T2 snofihort=
1 ®Fl>TULV= 128 1 99.2
2 JISEMNoT= 10 0 100
X218 5E -
Fisher B IR E 1
#84-4
Q8.10 [% 1 Z1>TL -
Q8.6 1 -T2 snsih ot
1 ®Fl>TULV= 128 1 99.2
2 JISEMoT= 9 1 90
X218 5E -
Fisher B fEHEZIR TE 0.13919




#<84-5

Q8_11 [% 1 Z1>TL -
Q8.6 1 -T2 F5hm-F-
1 ®F1>TULV= 127 2 98.4
2 JISE M= 9 1 90
X248 E -
Fisher B fEHEZIR TE 0.20203
<846
Q8.12 [% 1 Z1>TL -
Q8.6 1 -T2 F5hm-F
1 ®Fl>TULV= 104 25 80.6
2 JISE Mo 4 6 40
X248 -
FisherE IEHEZIRTE 0.008505
#84-7
Q8.13 [% 1 Z1>TL -
Q8.6 1 -T2 F5hm-o7F-
1 ®Fl>TULV- 128 1 99.2
2 JISE M= 9 1 90
X248 E -
Fisher B fEHEZIR E 0.13919
#<84-8
Q8.14 [% 1 Z1>TL -
Q8.6 1 -T2 snsih o=
1 ®Fl>TULV= 108 21 83.7
2 JISE M oT= 6 4 60
X248 -
Fisher B fEHEZIR E 0.080425
#<84-9
Q8_15 [% 1 Zn-TLV=
Q8.6 1 H-TU2 snsihort-
1 ®Fl>TULV= 117 12 90.7
2 JISE M= 8 2 80
X248 -
FisherE IEHEZIRTE 0.26517
#84-10
Q8.16 [% 1 Z1>TL V-
Q8.6 1 -T2 snofihort=
1 ®Fl>TULV= 118 11 915
2 JISEMNoT= 9 1 90
X248 -
Fisher B &R E 1
#*84-11
Q8.17 [% 1 Zn-TLV=
Q8.6 1 -T2 F5hm-oF=
1 ®Fl>TULV= 127 2 98.4
2 JISEMoT= 10 0 100
X248 -

Fisher B &R E 1




#284-12

Q8.18 [% 1 Z1>TL -
Q8.6 1 -T2 snsih o=
1 ®F1>TULV= 127 2 98.4
2 JISE M= 10 0 100
X218 5E -
Fisher B &R E 1
285-1
Q8.8 [% 1 Z1>TL -
Q8.7 1 -T2 snsih ot
1 ®Fl>TULV= 139 0 100
2 JISE Mo 0 0-
X218 5E -
FisherE & FERRTE -
#<85-2
Q8.9 [% 1 Z1>TL -
Q8.7 1 -T2 snsihort=
1 ®Fl>TULV- 138 1 99.3
2 JISE M= 0 0[-
X21R%E 2.22E-16
FisherE & FERRTE -
#<85-3
Q8.10 [% 1 Z1>TL -
Q8.7 1 -T2 snsih o=
1 ®Fl>TULV= 137 2 98.6
2 JISE M oT= 0 0[-
X212 E 2.22E-16
FisherE & FERRTE -
7854
Q8_11 [% 1 Z1>TL -
Q8.7 1 H-TU2 snsihort-
1 ®Fl>TULV= 136 3 97.8
2 JISE M= 0 0-
X212 E 2.22E-16
FisherE & FERRTE -
#285-5
Q8.12 [% 1 Z1>TL V-
Q8.7 1 -T2 snofihort=
1 ®Fl>TULV= 108 31 77.7
2 JISEMNoT= 0 0[-
X21R%E 6.53E—11
FisherE & FERRTE -
#<85-6
Q8.13 [% 1 Z1>TL -
Q8.7 1 -T2 snsih ot
1 ®Fl>TULV= 137 2 98.6
2 JISEMoT= 0 0[-
X21R5E 2.22E-16

FisherE & FERRTE -




7285-7

Q8.14 [% 1 1> TLV=
Q8.7 1 -T2 snsih o=
1 &51-TLV= 114 25 82
2 JISE M= 0 0-
X212 E 4.39E-14
FisherE & FERRTE -
#<85-8
Q8_15 [% 1 Zn-TLV-
Q8.7 1 -T2 snsih ot
1 5o TLVE= 125 14 89.9
2 JISE Mo 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
#<85-9
Q8.16 [% 1 1> TLV=
Q8.7 1 -T2 snsihort=
1 51> TLV= 127 12 91.4
2 JISE M= 0 0[-
X2R2E 2.22E-16
FisherE & FERRTE -
285-10
Q8.17 [% 1 Zn-TLV=
Q8.7 1 -T2 snsih o=
1 51> TLV= 137 2 98.6
2 JISE M oT= 0 0[-
X212 E 2.22E-16
FisherE & FERRTE -
#85-11
Q8.18 [% 1 1> TLV-
Q8.7 1 H-TU2 snsihort-
1 51> TLVE= 137 2 98.6
2 JISE M= 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
286-1
Q8.9 [% 1 1> TLV=
Q8.8 1 -T2 snofihort=
1 51> TLVE= 138 1 99.3
2 JISEMNoT= 0 0[-
X21R%E 2.22E-16
FisherE & FERRTE -
#2862
Q8.10 [% 1 1> TLV=
Q8.8 1 -T2 snsih ot
1 51> TLVE= 137 2 98.6
2 JISEMoT= 0 0[-
X212 E 2.22E-16

FisherE & FERRTE -




#<86-3

Q8_11 [% 1 1> TLV=
Q8.8 1 -T2 snsih o=
1 &51-TLV= 136 3 97.8
2 JISE M= 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
#<86-4
Q8.12 [% 1 1> TLV=
Q8.8 1 -T2 snsih ot
1 5o TLVE= 108 31 77.7
2 JISE Mo 0 0-
X21R%E 6.53E—11
FisherE & FERRTE -
#2865
Q8.13 [% 1 1> TLV=
Q8.8 1 -T2 snsihort=
1 51> TLV= 137 2 98.6
2 JISE M= 0 0[-
X2R2E 2.22E-16
FisherE & FERRTE -
<866
Q8.14 [% 1 1> TLV-
Q8.8 1 -T2 snsih o=
1 51> TLV= 114 25 82
2 JISE M oT= 0 0[-
X212 E 4.39E-14
FisherE & FERRTE -
#<86-7
Q8_15 [% 1 Zn-TLV=
Q8.8 1 H-TU2 snsihort-
1 51> TLVE= 125 14 89.9
2 JISE M= 0 0-
X21R%E 2.22E-16
FisherE & FERRTE -
#<86-8
Q8_16 [% 1 1> TLV=
Q8.8 1 -T2 snofihort=
1 51> TLVE= 127 12 91.4
2 JISEMNoT= 0 0[-
X21R%E 2.22E-16
FisherE & FERRTE -
#<86-9
Q8.17 [% 1 Zn-TLV=
Q8.8 1 -T2 snsih ot
1 51> TLVE= 137 2 98.6
2 JISEMoT= 0 0[-
X212 E 2.22E-16

FisherE & FERRTE -




286-10

Q8.18 [% 1 Z1>TL -
Q8.8 1 -T2 snsih o=
1 ®Fl>TULV- 137 2 98.6
2 JISE M oT= 0 0[-
X21R%E 2.22E-16
FisherE & FERRTE -
#=87-1
Q8.10 [% 1 Z1>TL -
Q8.9 1 -T2 snsih o=
1 ®F1>TULV= 136 2 98.6
2 JISE M= 1 0 100
X248 E -
Fisher B &R E 1
#87-2
Q8_11 [% 1 Z1>TL -
Q8.9 1 -T2 snsihort-
1 ®Fl>TULVF= 135 3 97.8
2 JISE M= 1 0 100
X248 %E -
Fisher B IR E 1
%873
Q8.12 [% 1 Z1>TL -
Q8.9 1 -T2 snsihort=
1 ®Fl>TULV= 107 31 77.5
2 JISE M oT= 1 0 100
X248 -
Fisher B IR E 1
#87-4
Q8.13 [% 1 Z1>TL -
Q8.9 1 -T2 snsih o=
1 ®Fl>TULV= 136 2 98.6
2 JISE M oT= 1 0 100
X248 E -
Fisher B &R E 1
#87-5
Q8.14 [% 1 Z1>TL -
Q8.9 1 -T2 snoih ot
1 ®Fl>TULV= 113 25 81.9
2 JISE M= 1 0 100
X248 E -
Fisher B IR E 1
<876
Q8_15 [% 1 Zn-TLV=
Q8.9 1 -T2 snofihort-
1 ®Fl>TULV= 124 14 89.9
2 JISEMNoT= 1 0 100
X248 -

Fisher B &R E

1




7=87-17

Q8.16 [% 1 Z1>TL -
Q8.9 1 -T2 F5hm-F-
1 ®Fl>TULV- 126 12 91.3
2 JISE M oT= 1 0 100
X248 -
Fisher B &R E 1
#<87-8
Q8.17 [% 1 En-TLV=
Q8.9 1 -T2 F5hm-F-
1 ®F1>TULV= 136 2 98.6
2 JISE M= 1 0 100
X248 E -
Fisher B &R E 1
#87-9
Q8.18 [% 1 Z1>TL -
Q8.9 1 -T2 F5hm-F=
1 ®Fl>TULVF= 136 2 98.6
2 JISE M= 1 0 100
X248 %E -
Fisher B IR E 1
7288-1
Q8_11 [% 1 Z1>TL -
Q8.10 1 -T2 F5hm-oF=
1 ®Fl>TULV= 134 3 97.8
2 JISE M oT= 2 0 100
X248 -
Fisher B IR E 1
#<88-2
Q8.12 [% 1 Z1>TL -
Q8.10 1 -T2 F5hm-oF=
1 ®Fl>TULV= 108 29 78.8
2 JISE M oT= 0 2 0
X248 E -
FisherE fEHEZIR E 0.048483
#<88-3
Q8.13 [% 1 Z1>TL -
Q8.10 1 -T2 F5hm-oF=
1 ®Fl>TULV= 136 1 99.3
2 JISE M= 1 1 50
X248 -
Fisher B fEHEZIR TE 0.028673
#<88-4
Q8.14 [% 1 Z1>TL -
Q8.10 1 -T2 F5hm-oF
1 ®Fl>TULV= 114 23 83.2
2 JISEMNoT= 0 2 0
X248 -
FisherE fEHEZIR E 0.031279




#<88-5

Q8_15 [% 1 Zn-TLV=
Q8.10 1 -T2 snsih o=
1 ®F1>TULV= 124 13 90.5
2 JISE M= 1 1 50
X248 E -
Fisher B fEHEZIR TE 0.19195
#<88-6
Q8.16 [% 1 Z1>TL -
Q8.10 1 -T2 snsih ot
1 ®Fl>TULV= 125 12 91.2
2 JISE Mo 2 0 100
X248 %E -
Fisher B &I E 1
#<88-7
Q8.17 [% 1 En-TLV=
Q8.10 1 -T2 snsihort=
1 ®Fl>TULV- 135 2 98.5
2 JISE M= 2 0 100
X248 E -
Fisher B &R E 1
#<88-8
Q8.18 [% 1 Z1>TL -
Q8.10 1 -T2 snsih o=
1 ®Fl>TULV= 135 2 98.5
2 JISE M oT= 2 0 100
X248 -
Fisher B &R E 1
289-1
Q8.12 [% 1 Z1>TL -
Q8_11 1 H-TU2 snsihort-
1 ®Fl>TULV= 108 28 79.4
2 JISE M= 0 3 0
X248 E -
FisherE fEHEZIR E 0.010263
#2892
Q8.13 [% 1 Z1>TL V-
Q8_11 1 -T2 snofihort=
1 ®Fl>TULV= 134 2 98.5
2 JISEMNoT= 3 0 100
X248 -
Fisher B IR E 1
#<89-3
Q8.14 [% 1 Z1>TL -
Q8_11 1 -T2 snsih ot
1 ®Fl>TULV= 113 23 83.1
2 JISEMoT= 1 2 33.3
X248 -
Fisher B fEHEZIR TE 0.083335




#<89-4

Q8_15 [% 1 Zn-TLV=
Q8_11 1 -T2 snsih o=
1 ®F1>TULV= 124 12 91.2
2 JISE M= 1 2 33.3
X248 E -
Fisher B fEHEZIR TE 0.026802
#<89-5
Q8.16 [% 1 Z1>TL -
Q8_11 1 -T2 snsih ot
1 ®Fl>TULV= 125 11 91.9
2 JISE Mo 2 1 66.7
X248 -
FisherE IEHEZIRTE 0.23885
#<89-6
Q8.17 [% 1 En-TLV=
Q8_11 1 -T2 snsihort=
1 ®Fl>TULV- 134 2 98.5
2 JISE M= 3 0 100
X248 E -
Fisher B &R E 1
#<89-7
Q8.18 [% 1 Z1>TL -
Q8_11 1 -T2 snsih o=
1 ®Fl>TULV= 134 2 98.5
2 JISE M oT= 3 0 100
X248 -
Fisher B &R E 1
7290-1
Q8.13 [% 1 Z1>TL -
Q8.12 1 H-TU2 snsihort-
1 ®Fl>TULV= 107 1 99.1
2 JISE M= 30 1 96.8
X248 -
Fisher B &R E 0.39756
£290-2
Q8.14 [% 1 Z1>TL V-
Q8.12 1 -T2 snofihort=
1 ®Fl>TULV= 95 13 88
2 JISEMoT= 19 12 61.3
X 2% %€ 0.0016718
FisherE IEHEZIRTE 0.0023593
£290-3
Q8_15 [% 1 Zn-TLV=
Q8.12 1 -T2 snsih ot
1 ®Fl>TULV= 100 8 92.6
2 JISEMoT= 25 6 80.6
X248 -
Fisher B fEHEZIR TE 0.083611




#290-4

Q8.16 [% 1 Z1>TL -
Q8.12 1 -T2 snsih o=
1 ®F1>TULV= 101 7 93.5
2 JISE M= 26 5 83.9
X248 E -
Fisher B fEHEZIR TE 0.13919
£290-5
Q8.17 [% 1 Zn-TLV=
Q8.12 1 -T2 snsih ot
1 ®Fl>TULV= 106 2 98.1
2 JISE Mo 31 0 100
X248 %E -
Fisher B &I E 1
£290-6
Q8.18 [% 1 Z1>TL -
Q8.12 1 -T2 snsihort=
1 ®Fl>TULV- 106 2 98.1
2 JISE M= 31 0 100
X248 E -
Fisher B &R E 1
#91-1
Q8.14 [% 1 Z1>TL -
Q8.13 1 -T2 snsih o=
1 ®Fl>TULV= 114 23 83.2
2 JISE M oT= 0 2 0
X248 -
Fisher B fEHEZIR TE 0.031279
#91-2
Q8_15 [% 1 Zn-TLV=
Q8.13 1 H-TU2 snsihort-
1 ®Fl>TULV= 125 12 91.2
2 JISE M= 0 2 0
X248 E -
FisherE fEHEZIR E 0.0094881
#91-3
Q8.16 [% 1 Z1>TL V-
Q8.13 1 -T2 snofihort=
1 ®Fl>TULV= 125 12 91.2
2 JISEMNoT= 2 0 100
X248 -
Fisher B IR E 1
#91-4
Q8.17 [% 1 Zn-TLV=
Q8.13 1 -T2 snsih ot
1 ®Fl>TULV= 135 2 98.5
2 JISEMoT= 2 0 100
X248 -

Fisher B &R E 1




#<91-5

Q8.18 [% 1 Z1>TL -
Q8.13 1 -T2 snsih o=
1 ®F1>TULV= 135 2 98.5
2 JISE M= 2 0 100
X248 -
Fisher B &R E 1
F292-1
Q8_15 [% 1 Zn-TLV-
Q8.14 1 -T2 snsih ot
1 ®Fl>TULV= 106 8 93
YA N 19 6 76
X248 -
FisherE IEHEZIRTE 0.02056
%922
Q8_16 [% 1 Z1>TL -
Q8.14 1 -T2 snsihort=
1 ®Fl>TULV- 104 10 91.2
2 JISE M= 23 2 92
X248 E -
Fisher B IR E 1
#92-3
Q8.17 [% 1 Zn-TLV=
Q8.14 1 -T2 snsih o=
1 ®Fl>TULV= 113 1 99.1
2 JISE M oT= 24 1 96
X248 -
Fisher B fEHEZIR E 0.32843
#92-4
Q8.18 [% 1 Z1>TL V-
Q8.14 1 H-TU2 snsihort-
1 ®Fl>TULV= 113 1 99.1
2 JISE M= 24 1 96
X248 -
FisherE IEHEZIRTE 0.32843
293-1
Q8.16 [% 1 Z1>TL V-
Q8.15 1 ®->TU2 #siEhor-
1 ®Fl>TULV= 117 8 93.6
2 JISEMNoT= 10 4 714
X248 -
FisherE IEHEZIRTE 0.020289
#2932
Q8.17 [% 1 Zn-TLV=
Q8.15 1 ®->TU2 #siEhof-
1 ®Fl>TULV= 123 2 98.4
2 JISEMoT= 14 0 100
X248 -

Fisher B &R E 1




#293-3

Q8.18 [% 1 1> TLV=
Q8.15 1 E->TU2 #stiEhor-
1 &51-TLV= 123 2 98.4
2 JISE M oT= 14 0 100
X218 5E -
Fisher B IR E 1
F294-1
Q8.17 [% 1 En-TLV=
Q8.16 1 -T2 snsfiah o=
1 51> TLV= 126 1 99.2
2 finiEh otz 11 1 91.7
X218 5E -
Fisher B &I E 0.16578
%942
Q8.18 [% 1 1> TLV=
Q8.16 1 -T2 snoih o=
1 51> TLV= 126 1 99.2
2 fisiEh otz 11 1 91.7
X218 5E -
Fisher B &R E 0.16578
95
Q8.18 [% 1 1> TLV-
Q8.17 1 ®->TU2 #siEhor-
1 51> TLV= 137 0 100
2 SN oT= 0 2 0
X21R5E -
FisherE fEHEZIR E 0.00010426
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